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2.6 Distributive Property 9¢t-23.2000

ex| Find the Area of a Rectangle A ,Q \VV I
whose length is (x + 2) and W|dth is 3.

AK =(x+2)-3 I
R o L)
(x +2) I
: o= X3=

w AR]Q::Q\' £ ;@
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Distributive Property
The Productof 'a’and (b + ¢) :

a(b+c)=lab+ac) o,
(b+c)a—ba+ca
(b c) ab—ac O

(b ca ba — ca @




exl

2(x+5)=Ax) + Q5

I
(I+2n)8 =801 +8(n)
— 8 +lbn




Distributive Property with Neqgatives:

Ay =36004730)

= ~3xEI|R
=T SX — X

D= = 2

:-EX@/&
= 3X+12

ﬂ /é)ﬁ/@x

=~ +3x
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(1)Pg. 103: 13, 15
(@Pg. 104: 17, 21, 25, 28, 29,

33, 37, 39, 40, 41,
45, 49, 52, 56, 65, 67
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